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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 

on the title page of the answer-book. 

Set-4 

  àíZ-nÌ H$moS>      

 Q.P. Code 

amob Z§. 
Roll No. 
 

 
 

 

g§ñH¥$V_² (EopÀN>H$_²) 

SANSKRIT (Elective) 

g_`… : hmoamÌ`_²    nyUm©‘>m… : 80 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 
Time allowed : 3 hours Maximum Marks : 80 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 19 h¢ & 

(I) Please check that this question paper 
contains 19 printed pages. 

(II) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 
>19 àíZ h¢ & 

(II) Please check that this question paper 
contains 19 questions. 

(III) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE 
àíZ-nÌ H$moS >H$mo narjmWu CÎma-nwpñVH$m Ho$ 
_wI-n¥ð> na {bI| & 

(III) Q.P. Code given on the right hand side of 
the question paper should be written on 
the title page of the answer-book by the 
candidate. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the serial number of 
the question in the answer-book before 
attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ 
>H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m 
{dVaU nydm©• _| 10.15 ~Oo {H$`m OmEJm &  
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to read 
this question paper. The question paper 
 will  be  distributed at 10.15 a.m. From 
10.15 a.m. to 10.30 a.m., the students will 
read the question paper only and will not 
write any answer on the answer-book 
during this period. 
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General Instructions :  

Questions paper is divided into 5 sections. 

It has total 19 questions. 

Section A  – 1 Question no. 1 to 1 

Section B  – 2 Questions no. 2 to 3 

Section C  – 5 Questions no. 4 to 8 

Section D  – 9 Questions no. 9 to 17 

Section E  – 2 Questions no. 18 to 19 

Attempt questions as per specific instructions. 

Write question no. in answer book before attempting it. 

 

gm_mÝ` {ZX}em : 

Apñ_Z² àíZnÌo nÄM IÊS>m… gpÝV & 

Apñ_Z² àíZnÌo ZdXe (19) àíZm… gpÝV & 

 IÊS>… ‘H$ ’  – 1 – àíZg§»`m 1 

 IÊS>… ‘I ’ – 2 – àíZg§»`m 2 – 3 

 IÊS>… ‘J ’ – 5 – àíZg§»`m 4 – 8 

 IÊS>… ‘K ’ – 9 – àíZg§»`m 9 – 17 

 IÊS>… ‘L> ’ – 2 – àíZg§»`m 18 – 19 

{d{eîQ>{ZX}emZwgma§ àíZm: g_mYo`m: & 

CÎmanwpñVH$m`m§ boIZmV² nydª gd©àW_§ àíZg§»`m boIZr`m & 
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IÊS>… ‘H$’ 

                                                An{R>V-Ad~moYZ_² 10 A‘>m…$ 
                                                  An{R>V Ad~moYZ 

Unseen Reading Comprehension 

1. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV & 

 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE & 
 Read the following passage and answer the given questions in Sanskrit.  

ñdVÝÌVmàmáo: AZÝVa§ Xoeo {dkmZñ` àJË`W©_² AÝV[ajemoYjoÌo AZwgÝYmZñ` _hVr 
Amdí`H$Vm ^maVr`d¡km{ZH¡$: AZw ŷVm & ^maVñ` AmYw{ZH$-A§V[aj-AZwgÝYmZ-H$m`©H«$_ñ` 
OZH$: AmgrV² – S>m. {dH«$_gmam^mB© & ^maVgd©H$maoU S>m. {dH«$_gmam^mB©-_hmoX`ñ` 
AÜ`jVm`m§ 1969 V_o df} ^maVr`-A§V[aj-AZwgÝYmZ-g§JR>Zñ` (ISRO) ñWmnZm H¥$Vm & 
Añ` g§JR>Zñ` gẁ mo½`m: d¡km{ZH$m: {dído ^maVñ` à{VîR>m ¡̀ {Xdm{Ze_² AZwgÝYmZH$m }̀ 
g§b½Zm: gpÝV & g§JR>ZoZ AZoZ AZoH$m{Z A§V[aj`mZàjonUm{Z g\$bVmnyd©H§$ H¥$Vm{Z & 
^maVr`mZm§ d¡km{ZH$mZm§ n[al_ñ` n[aUm_mo@ §̀ `V² 2023 V_o df} g§JR>ZoZ àjo{nV§ MÝÐ`mZ§ 
g\$bVmnyd©H§$ MÝÐ_g§ àmá_² & {dído ^maV§ àW_: Xoe: `ñ` MÝÐ`mZ§ MÝÐ_g: X{jUY«wd§ 
gåàmá_² & ^maVr`m: d¡km{ZH$m: gd©Wm dÝXZr`m: àe§gZr`m: M gpÝV & ^maVñ` ZmJ[aH$m: 
^maVr`d¡km{ZH$mZ² à{V J{d©Vm: gpÝV &       

àíZm: 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 
 EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in one word. (Only two questions)    2´1=2 

(i) AÝV[aj-AZwg§YmZ-H$m`©H«$_ñ` OZH$: H$: AmgrV² ? 
(ii) Ho$ AZwgÝYmZH$m`} {Xdm{Ze_² g§b½Zm: gpÝV ? 
(iii) ^maVgd©H$maoU 1969 V_o df} H$ñ` ñWmnZm H¥$Vm ? 

(Am) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 
 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions)    2´2=4 

(i) Xoeo {dkmZñ` àJË`Wª d¡km{ZH¡$: H$ñ` Amdí`H$Vm AZŵ yVm ? 
(ii) g§JR>Zñ` d¡km{ZH$m: qH$ Hw$d©pÝV ? 
(iii) g§JR>ZoZ àjo{nV§ MÝÐ`mZ§ Hw$Ì AJÀN>V² ? 
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(B) Añ` AZwÀN>oXñ` H¥$Vo Cn ẁº§$ erf©H§$ g§ñH¥$VoZ {bIV & 
 Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 
 Write a suitable title for this passage in Sanskrit.   1´1=1 

(B©) {ZX© oemZwgma_² C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZÌ`_²) 
 {ZX© oemZwgma C{MV CÎma MwZH$a {b{IE & (Ho$db VrZ àíZ) 
 Choose the appropriate answer and write as directed.    3´1=3 

(i) ‘d¡km{ZH$m: {Xdm{Ze_² AZwgÝYmZH$m`} g§b½Zm: gpÝV &’ AÌ ‘gpÝV’ B{V 
{H«$`mnXñ` H$V¥©nX§ {H$_² ? 
(A) {Xdm{Ze_²   
(B) d¡km{ZH$m:  
(C) g§b½Zm: 
(D) AZwg§YmZH$m`}   

(ii) ‘g§JR>Zñ` gẁ mo½`m: d¡km{ZH$m: {Xdm{Ze_² AZwgÝYmZH$m }̀ g§b½Zm: gpÝV &’ 
AÌ qH$ {deofUnX_² ? 
(A) gẁ mo½`m:    
(B) d¡km{ZH$m:  
(C) g§b½Zm:  
(D) g§JR>Zñ`    

(iii) ‘{dído ^maV§ àW_: Xoe: `ñ` MÝÐ`mZ§ MÝÐ_g: X{jUY«wd§ gåàmá_² &’ AÌ 
‘g§gmao’ B{V nXñ` n`m©̀ nX§ {H$_² ?  
(A) ^maV_²     
(B) MÝÐ`mZ§   
(C) {dído   
(D) MÝÐ_g: 

(iv) ‘^maVñ` ZmJ[aH$m: ^maVr`d¡km{ZH$mZm§ {df`o J{d©Vm: gpÝV &’ AÌ ‘ZmJ[aH$m:’ 
B{V H$V¥©nXñ` {H«$`mnX§ {H$_² ? 
(A) {df ò      
(B) J{d©Vm:   
(C) gpÝV    
(D) ^maVñ` 
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IÊS>… ‘I’ 
                                                  aMZmË_H$-H$m`©_² 10 A‘>m…$ 
                                                    aMZmË_H$ H$m`© 

Writing Skills 

2. ^dVm/^dË`m JVgámho g§gX: ZdrZ^dZ§ ÑîQ>_² & Añ` d¡{eîQ²>`§ dU©̀ Z²/dU©̀ ÝVr 

Hw$éjoÌdm{gZ§ ñd{_Ì§ à{V _ÄOyfm`m§ àXÎmgL ²Ho$VmZm§ ghm`V`m nÌ_oH§$ {bIV & 
 AmnZo JV gámh g§gX² H$m ZdrZ ^dZ XoIm & BgH$s {deofVmAm| H$m dU©Z H$aVo hþE _ÄOyfm 

_| {XE JE g§Ho$Vm| H$s ghm`Vm go Hw$éjoÌdmgr AnZo {_Ì H$mo EH$ nÌ {b{IE & 5 
 You have seen the new building of the Parliament last week. Write a 

letter to your friend who lives in Kurukshetra explaining its features 

with the help of the clues given in the box.  

_ÄOyfm 

 {à`{_Ì_², {X„rZJa_², g§gX²^dZñ`, _B©_mgñ` bmoH$mn©U_², ŷH$ånamoYrVH$ZrH$:, 
Aj`-D$Om©̀ m:, bmoH$g^m`m:, {df`:, H$_b_², fS²>Ûmam{U, _w»`Ûma_² Zm_m{Z, 
kmZÛma_², ^dZñ` _Ü`o, Ah_², qghm:, gpÝV, Jm¡admpÝdV:, AZw^dm{_ & 

AWdm (OR) 

 ñd{dÚmb`ñ` N>mÌmUm§ H¥$Vo H«$sS>m-CËgdñ` Am`moOZm` ñd{dÚmb`ñ` àYmZmMm`ª à{V EH§$ 
nÌ§ {bIV & 

 AnZo {dÚmb` Ho$ N>mÌm| Ho$ {bE H«$sS>m-CËgd Ho$ Am`moOZ Ho$ {bE AnZo {dÚmb` Ho$ 
àYmZmMm ©̀ H$mo EH$ nÌ {b{IE &  

 Write a letter to the Principal of your school for organizing a sports 

festival for the students of your school.  
 

_ÄOyfm 

  godm`m_², _hmoX`m:, {df`:, {dÚmb ò, kmZmO©Zm`, _pñVîH$ñ` {dH$mg:, emar[aH§$ 
{dH$mg_², N>mÌm:, BÀN>pÝV, Am`moOZ_², H«$sS>m oËgdñ`, ^doV², H«$sS>`m ì`m`m__², 
AZw_{V_², àXm`, ^dVm_², AmkmH$mar {eî`:, YÝ`dmXm:, Amdí`H$s,  
emar[aH${ejm &  
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3. (H$) àXÎmVÏ`mZm§ ghm`V`m AYmo{b{IV§ {df`_² A{YH¥$Ë` g§ñH¥$VoZ AZwÀN>oX§ {bIV & 

 àXÎm VÏ`m| H$s ghm`Vm go {ZåZ{b{IV {df` na g§ñH¥$V _| AZwÀN>oX {b{IE & 
 Write a passage on the topic given below with the help of the given 

facts in Sanskrit.  5 

{df`: – ‘OZZr OÝ_ ŷ{_íM ñdJm©X{n Jar`gr’ &  

‘OZZr-OÝ_ ŷ{_íM’ BË òV`mo: A{^àm`:, EV`mo: Û`mo: J[a_m, ñdXoem` OrdZñ` 

Ë`mJ:, gñZoh§ nmbZ_², OÝ_ ŷ_m¡, emar[aH§$ _mZ{gH§$ M {dH$mg:, EV`mo: à{V 

gX²^mdm:, nmbZnmofU{df`H§$ à{VnmXZ_², à{VîR>m, ào_{ZîR>m, Cng§hma: & 

AWdm (OR) 

(I) AYmo{b{IVdmŠ`ofw Ho$fmÄMZ nÄMdmŠ`mZm§ g§ñH¥$VoZ AZwdmX§ Hw$éV & 

 {ZåZ{b{IV _| go {H$Ýht nm±M dmŠ`m| H$m g§ñH¥$V _| AZwdmX H$s{OE & 
 Translate any five of the following sentences into Sanskrit. 5´1=5 

(i) d¥j na AZoH$ njr h¢ & 
 Many birds are on the tree. 

(ii) _mohZ ~g go {dÚmb` OmVm h¡ & 
 Mohan goes to school by bus. 

(iii) amHo$e Ho$ Mmam| Amoa {_Ì h¢ & 
 Rakesh is surrounded by friends.  

(iv) a_oe AnZo {_Ì H$mo nwñVH$ XoVm h¡ & 
 Ramesh gives the book to his friend. 

(v) amOm AnamYr H$mo XÊS> XoVm h¡ & 
 The king punishes the criminal. 

(vi) Cgo gM ~mobZm Mm{hE & 
 He should speak the truth.  

(vii) AmO g^r {_Ìm| Zo CÚmZ _| JmZm Jm`m & 
 All the friends sung a song in the garden today.  
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IÊS>… ‘J’ 
                                                AZwà`wº$-ì`mH$aU_² 15 A‘>m…$ 
                                                 AZwà`wº$ ì`mH$aU 

 Applied Grammar 

4. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ gpÝY§ >gpÝYÀN>oX§ dm H¥$Ëdm {bIV & (Ho$db§ àíZÌ`_²) 

 {ZåZ{b{IV dm³¶m| ‘| aoIm§{H$V nXmo§ H$s gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE &  
                                                                           (Ho$db VrZ àíZ) 

 Write the sandhi form or disjoin the sandhi of the underlined words in 

the following sentences. (Only three questions)    3´1=3 

(H$) `mo@`_íd: nVmHo$`_² AWdm draKmofUm & 

(I) nmX§ gw_oamo[ad dO«{^Þ_² & 

(J) Aíd B{V H$mo@{n ŷV{deofmo OZnXoîdZwly`Vo & 

(K) Ab_² {MÝV`m & 

5. aoIm{‘>VnXmZm§ àH¥${VàË``m¡ g§̀ moÁ` {d^Á` dm C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZÌ`_²) 

 aoIm§{H$V nXmo§ Ho$ àH¥${V Am¡a àË`` H$mo Omo‹S>H$a AWdm {d^º$ H$a C{MV CÎma MwZH$a 

{b{IE & (Ho$db VrZ àíZ)  

 Select the appropriate answer by joining or disjoining the base element 

and the suffix element in the underlined words. (Only three questions) 3´1=3 

(i) qH$ dñVw {dÛZ² ! Jwado àXò _² & 

(A) à + Xm + `V²   

(B) à + Xm + eV¥ 

(C) à + Xm + ŠV 

(D) à + Xm + Vì`V²   
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(ii) XmVì §̀ ^moº$ì §̀ YZ{df ò gÄM`mo Z H$Îm©ì`: & 

(A) Xm + ŠV     

(B) Xm + Vì`V² 

(C) `ÀN>² + Vì`V²  

(D) Xm + `V² 

(iii) gwb^gm¡»`_² BXmZt ~mb + Ëd ^d{V & 

(A) ~mbVm  

(B) ~m{bb_²   

(C) ~mbËd_²   

(D) ~bËd: 

(iv) Z øod§{dY_n[a{MV{_h OJ{V {H${ÄMXpñV `Wo`_² AZm ©̀ + Q>mn² & 

(A) AZmar  

(B) AZm`m©   

(C) AZm`m©_²   

(D) Ad`m© 

6. _ÄOyfm`m§ àXÎm¡: g_w{MV¡: Aì``nX¡: [aº$ñWmZm{Z nya{`Ëdm {bIV & (Ho$db§ àíZÌ`_²) 

 _ÄOyfm _| {XE JE g_w{MV Aì`` nXmo§ go [aº$ ñWmZ ^aH$a dmŠ` {b{IE & (Ho$db VrZ àíZ) 
 Write the sentence after filling in the blanks with appropriate 

indeclinable words given in the box. (Only three questions) 3´1=3 

(H$) _hmamO§ _________ H$: j{Ì`: ? 

(I) _hVr §̀ _________ AZW©naånam & 

(J) OmV ! _________ Ord & 

(K) d`§§ _________ àm`mo{JH§$ ì`dhma§ H$[aî`m_: & 

 _ÄOyfm 

           {Ma_², à{V, íd:, Ibw & 
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7. H$moîR>Ho$ àXÎmeãXofw g_w{MVm§ {d^qº$ à`wÁ` dmŠ`ofw [aº$ñWmZm{Z nya`V & (Ho$db§ àíZÌ`_²)  

 H$moîR>H$ _| {XE JE eãXm| _| C{MV {d^{º$ H$m à`moJ H$a [aº$ ñWmZ nyU© H$s{OE &  
                                                                     (Ho$db VrZ àíZ)  

 Fill in the blanks after applying the appropriate case-endings in the 

words given in the brackets. (Only three questions) 3´1=3 

(H$) {dÎm§ _________ {dZm g\$b§ Z ^d{V & (XmZ^moJ) 

(I) OZmo _________ amOdMZ_ZwJÀN>{V & (^`) 

(J) Ef H$bh§gKmofKK©amZwZm{XZm  _________ AZwga{V & (am_^Ð) 

(K) Vñ` _________ gh ApñV H$píMV² gånH©$: & (amÁ`) 

8. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ g_w{MV§ {dJ«h § g_mg§ dm {MËdm {bIV & (Ho$db§ àíZÌ`_²)  

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| Ho$ g_w{MV {dJ«h AWdm g_mg MwZH$a {b{IE &  
                                                                        (Ho$db VrZ àíZ)  

 Write the vigraha (the descriptive sentence) or the compound of the 

underlined words of the following sentences. (Only three questions) 3´1=3  

(i) AYwZm Vw `moJñ` {ejm AVrd Cn`mo{JZr ApñV & 

(A) `moJ{ejm:    

(B) `moJ{ejm_² 

(C) `moJ{ejm   

(D) `mo½`{ejm  
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(ii) H$m¡Ëgm` dO«{^Þ_² gw_oamo[ad nmX§ g_ñV_od {XXoe & 

(A) dO«oU {^Þ_²  

(B) dO«ñ` {^Þ_²  

(C) dO«m` {^Þ_²  

(D) dO«: {^Þ:  

 

(iii) OmV ! ní`m{_ Vo _wI_² nwÊS>arH$_² & 

(A) _wInwÊS>arH$_²  

(B) _wInwÊS>arHo$ 

(C) _wIoZnwÊS>arH$_²  

(D) _wInwÊS>arH$ 

 

(iv) g à{V_mg§ ñddoVZñ` AYm©{YH§$ ^mJ§ Ho$ab§ àof`{V ñ_ & 

(A) à{V à{V _mg§    

(B) _mg§ à{V  

(C) _mg§ _mg§ à{V   

(D) _mgoZ à{V 
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IÊS>… ‘K’ 
                                               (i)  n{R>Vmd~moYZ_² 25 A‘>m…$ 
                                                    n{R>V-Ad~moYZ 

Reading Comprehension 

9. AYmo{b{IV§ JÚm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV &  

 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE &  
 Read the following passage and answer the following questions in 

Sanskrit.  5 

VmV ! MÝÐmnrS> ! {d{XVdo{XVì`ñ` AYrVgd©emñÌñ` Vo Zmën_ß ẁnXoîQ>ì`_pñV & Ho$db§  

M {ZgJ©V Edm{VJhZ§ V_mo `m¡dZà^d_² & An[aUm_mone_mo XméUmo bú_r_X: BË`V: 

{dñVaoUm{^Yr`go & J }̂ídaËd_{^Zd`m¡dZËd_² Aà{V_ê$nËd__mZwfe{º$Ëd§ Mo{V _hVr`§ 

adëdZW©naånam & `m¡dZmaå ô M àm`: emñÌObàjmbZ{Z_©bm{n H$mbwî`_wn`m{V ~w{Õ: & 

Zme`{V M nwéf_Ë`mg“mo {df`ofw & 

àíZm: 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in one word. (Only two questions)   2´

2

1
=1 

(i) MÝÐmnrS>§ H$: gå~moY`{V ? 

(ii) bú_r_X: H$sÑe: ^d{V ? 

(iii) {df òfw AË`mg“: H§$ Zme`{V ?  

(Am) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions) 2´1=2 

(i) `m¡dZà^d§ V_: H$sÑe§ ^d{V  ? 

(ii) JÚm§eo H$m AZW©naånam à{Vnm{XVm ? 

(iii) ~w{Õ: H$W§ H$mbwî`_² Cn`m{V ? 
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(B) {ZX© oemZwgma_² CÎmaV & (Ho$db§ àíZÛ`_²) 

 {ZX© oemZwgma CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer as directed. (Only two questions)     2´1=2 

(i) ‘~w{Õ:’ B{V H$V¥©nXñ` {H«$`mnX§ {H$_² ? 

(ii) ‘H$mo_b:’ B{V nXñ` {dbmo_nX§ JÚm§eo qH$ à ẁº$_² ? 

(iii) ‘{Z_©bm’ B{V {deofUnXñ` {deoî`nX§ {H$_² ? 

10. AYmo{b{IV§ nÚ§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV &  
 {ZåZ{b{IV nÚ H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE &  
 Read the following poetry and answer the questions based on them in 

Sanskrit.  5 

 V_Üdao {díd{O{V {jVre§ {Z:eof{dlm{UVH$mofOmV_² & 
 CnmÎm{dÚmo JwéX{jUmWu H$m¡Ëg: ànoXo daVÝVw{eî`: && 
àíZm: 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in one word. (Only two questions)   2´

2

1
=1 

(i) CnmÎm{dÚ: H$: ApñV ? 

(ii) Apñ_Z² nÚo {jVre: H$: ApñV ? 

(iii) H$m¡Ëg: H$ñ` {eî`: ApñV ? 

(Am) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions)   2´1=2 

(i) H$m¡Ëg: H$sÑe§ {jVre_² ànoXo ? 

(ii) H$m¡Ëg: H$ñ` nmíd} AJÀN>V² ? 

(iii) H$m¡Ëg: H$sÑe: ApñV ? 
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(B) {ZX© oemZwgma_² CÎmaV & (Ho$db§ àíZÛ`_²) 

 {ZX© oemZwgma CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer as directed. (Only two questions)     2´1=2 

(i) ‘ànoXo’ B{V {H«$`mnXñ` H$V¥©nX§ {H$_² ? 

(ii) ‘`ko’ B{V nXñ` n`m©̀ nX§ JÚm§emV² {MËdm {bIV & 

(iii) ‘AÜdao’ B{V nXñ` {deofUnX§ JÚm§eo qH$ à ẁŠV_² ? 

11. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm VXmYm[aVmZ² àíZmZ² g§ñH¥$VoZ CÎmaV &  
 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a Cg na AmYm[aV àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE &  
 Read the following part of a drama and answer the questions based on 

them in Sanskrit. 5 

bd: : (à{dí`, ñdJV_²) A{dkmVd`: H«$_m¡{MË`mV² 
nyÁ`mZ{n gV: H$W_{^dmX{`î`o ? ({d{MÝË`) 

  A §̀ nwZa{déÕàH$ma B{V d¥Õoä`: ly`Vo & 
(g{dZ`_wng¥Ë`) Ef dmo bdñ` {eagm àUm_n`m©`: &  

AéÝYVrOZH$m¡ : Am`wî_mZ² ^ỳ m: & 

H$m¡eë`m : OmV ! {Ma§ Ord & 

AéÝYVr : E{h dËg ! (bd_wËg“o J¥hrËdm AmË_JV_²) {XîQ²>`m Z 
Ho$db_wËg“píMamÝ_ZmoaWmo@{n _o ny[aV: &  

H$m¡eë`m : OmV ! BVmo@{n VmdXo{h & (CËg“o J¥hrËdm) Ahmo, Z Ho$db§ _m§gbmoÁÁdboZ 
Xoh~ÝYoZ, H$bh§gKmofKK©amZwZm{XZm ñdaoU M am_^Ð_Zwga{V & OmV ! 
ní`m{_ Vo _wInwÊS>arH$_² & 

àíZm… 

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in one word. (Only two questions)   2´

2

1
=1 

(i) {eagm àUm_n`m©̀ : H$ñ` ApñV ? 

(ii) bd_ wËg“o J¥hrËdm H$ñ`m: _ZmoaW: ny[aV: OmV: ? 

(iii) A{dkmVd`: H$: ApñV ? 
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(Am) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 
 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in a complete sentence. (Only two questions)   2´1=2 

(i) AéÝYVr bd_wËg“o J¥hrËdm qH$ {MÝV`{V ? 

(ii) bd: nyÁ`mZ² ÑîQ²>dm A{^dmXZ{df ò qH$ {MÝV`{V ? 
(iii) bd: H$sÑeoZ ñdaoU am_^Ð_Zwga{V ? 

(B) {ZX© oemZwgma_² CÎmaV & (Ho$db§ àíZÛ`_²) 

 {ZX© oemZwgma CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer as directed. (Only two questions)    2´1=2 

(i) ‘ní`m{_’ B{V {H«$`mnXñ` H$V©¥nX§ {H$_²$? 

(ii) ‘H$_b_²’ BË`W} qH$ nX_Ì à`wŠV_² ? 

(iii) ‘_m§gbmoÁÁdboZ’ B{V {deofUnXñ` {deoî`nX§ qH$ à ẁŠV_² ?  

12. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV – (Ho$db§ àíZMVwîQ>`_²) &  
{ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXmo§ Ho$ AmYma na àíZ {Z_m©U H$s{OE & (Ho$db Mma àíZ) 
Form questions on the basis of underlined words in the following 

sentences. (Only four questions)   4´1=4 

 (H$) CnmÎm{dÚmo H$m¡Ëg: {jVre§ ànoXo & 

(I) Aíd: AYwZm Añ_m{^: ñd`§ àË`jrH¥$V: & 

(J) `moJ: H$_©gw H$m¡eb_² & 

(K) AdYra`ÝV: IoX`pÝV {hVmonXoeXm{`Zmo Jwê$Z² & 

(L>) N>mÌm: àgÞ_Zgm `moJñ` d¡{eîQ²>`_² AdJÀN>pÝV & 

13. AYmo{b{IVñ` íbmoH$ñ` AÝd §̀ {bIV & 

 {ZåZ{b{IV íbmoH$ H$m AÝd` {b{IE &  
 Write the prose order of the following verse. 3 

 H$_©U¡d {h g§{g{Õ_mpñWVm OZH$mX`: & 

 bmoH$g§J«h_odm{n g§ní`ÝH$Vw©_h©{g && 



 

11-49 15 P.T.O. 

14. AYmo{b{IVñ` íbmoH$ñ` ^mdmWª g§ñH¥$V^mf`m {bIV & 
 {ZåZ{b{IV íbmoH$ H$m ^mdmW© g§ñH¥$V ^mfm _| {b{IE &  

 Write the explanation of the following verse in Sanskrit. 3  

 H$_©Ê òdm{YH$mañVo _m \$bofw H$XmMZ & 

 _m H$_©\$bhoVŵ y ©: _m Vo g“mo@ñËdH$_©{U && 

                        AWdm (OR) 

 ‘{dÚ`m@_¥V_íZwVo’ B{V nmR>ñ` gma§ g¬onoU g§ñH¥$V^mf`m {bIV & 

 

IÊS>… ‘K’ 
                          (ii)  g§ñH¥$V-gm{hË`o{Vhmgñ` gm_mÝ`: n[aM`: 10 A‘>m…$ 

g§ñH¥$V-gm{hË` Am¡a B{Vhmg H$m gm_mÝ` n[aM` 

General Introduction of Sanskrit-Literature and History 

15. AYmo{b{IVàíZmZm_² CÎmam{U {dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZÌ`_²) 

 {ZåZ{b{IV àíZm| Ho$ CÎma {XE JE {dH$ënm| _o§ go Mw{ZE & (Ho$db VrZ àíZ) 
 Choose the answer from the given options of the following  

questions. (Only three questions) 3´1=3 

 

(i) ‘~wÕM[aV_²’ B{V _hmH$mì`ñ` aM{`Vm H$: $? 

(A) ~mU^Å>:  (B) H$m{bXmg: 

(C) ^ma{d:  (D) AídKmof: 

 

(ii) aKwd§e_hmH$mì ò H${V gJm©: gpÝV $? 

(A) EH$mXe  (B) nÄMXe  

(C) ZdXe (D) qde{V:  



 

11-49 16  

(iii) {~ëhUñ` H$mì`ñ` Zm_ {H$_² $? 

(A) {dH«$_m‘>XodM[aV_² (B) _oKXÿV_² 

(C) amdUdY_² (D) gm¡ÝXaZÝX_² 

(iv) ‘amOVa§{JUr’ B{V H$sÑe§ H$mì`_pñV $? 

(A) H$mën{ZH$_²   (B) Eo{Vhm{gH$_²  

(C) ~m¡{ÕH$_²  (D) IÊS>H$mì`_² 

16. àíZmZm_² CÎmam{U àXÎm-{dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZÌ`_²)  
 àíZm| Ho$ CÎma {XE JE {dH$ënm| _| go Mw{ZE & (Ho$db VrZ àíZ) 
 Choose the answer from the given options. (Only three questions) 3´1=3 

(i) ‘H$mXå~ar’ B{V H$WmJ«ÝWñ` aM{`Vm H$: $? 

(A) gw~ÝYw>:  (B) ^{Å>:  

(C) ~mU^Å>:  (D) gmoS²>T>b: 

(ii) gw~ÝYmo: dmgdXÎmm`m: Zm`H$: H$: $? 

(A) dgÝVH$:  (B) H$ÝXn©Ho$Vw: 

(C) h[admhZ: (D) eyÐH$:  

(iii) ‘CX`gwÝXarH$Wm’ B{V MånyH$mì`ñ` aM{`Vm H$:$? 

(A) gmoS²>T>b: (B) Zmam`UXmg: 

(C) XÊS>r  (D) _mK: 

(iv) ‘am_m`U Måny:’ B{V H$mì`ñ` Ana§ Zm_ {H$_²$ ? 

(A) am_m`U_²   (B) Månyam_m`U_²  

(C) am_m`UH$mì`_² (D) am_m`UH$Wm 
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17. àXÎm{dH$ënoä`: g_w{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db Mma àíZ) 
 Choose appropriate answer from the given options. (Only four questions) 

                                                                                  4´1=4 

(i) ‘_¥ÀN>H${Q>H$_²’ B{V H$mì`ñ` aM{`Vm H$:$? 

(A) eyÐH$:  (B) ^mg: 

(C) H$m{bXmg:  (D) hf©dY©Z: 

(ii) AmMm`©̂ aV: H§$ emñÌ_² AaM`V² $? 

(A) gm{hË`emñÌ_² (B) ì`mH$aUemñÌ_²   

(C) ZmQ²>`emñÌ_² (D) Y_©emñÌ_²  

(iii) ^mgñ` _hm^maVmYm[aV§ H$mì`§ {H$_²$ ? 

(A) XÿVdmŠ`_² (B) A{^foH$ZmQ>H$_² 

(C) ñdßZdmgdXÎm_² (D) à{V_mZmQ>H$_² 

(iv) ‘{dH«$_mod©er`_²’ B{V ZmQ>H$ñ` Zm`H$: H$: ? 

(A) A{½Z{_Ì:   (B) nwéadm  

(C) Xþî`ÝV: (D) MméXÎm: 

(v) ‘H$U©̂ ma_²’ B{V ZmQ>H$ñ` aM{`Vm H$: ? 

(A) ^ma{d:   (B) XÊS>r  

(C) ^aV: (D) ^mg: 
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IÊS>… ‘L>’  
                                                N>ÝXmo@b§H$man[aM`: 10 A‘>m…$ 
                                             N>ÝX Am¡a Ab§H$ma n[aM` 

Metres and Figures of Speech  

18. (A) AYmo{b{IVàíZmZm_² CÎmam{U {bIV & (Ho$db§ àíZÌ`_²) 5 

 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE & (Ho$db VrZ àíZ) 
 Answer the following questions. (Only three questions)    3´1=3 

(i) ‘íbmoHo$ fîR>§ Jwé: kò § gd©Ì bKwnÄM__²’ B{V H$ñ` N>ÝXg: bjU_² ApñV ? 

(ii) dgÝV{VbH$mN>ÝXg: CXmhaU_oH$_² {bIV & 

(iii) ‘_JU’ BË`ñ` g§{já-{M•m{Z H$m{Z gpÝV ? 

(iv) ‘CnOm{V’ N>ÝX{g à{VMaU§ H${V dUm©: ^dpÝV ? 

(Am) AYmo{b{IVmgw íbmoH$n{L²>ŠVfw à ẁº§$ N>ÝX: n[aMr` Vñ` Zm_ {bIV &  
                                                            (Ho$db§ àíZÛ`_²) 

 {ZåZ{b{IV íbmoH$ n§{º$`m| _| N>ÝX MwZH$a Zm_ {b{IE (Ho$db Xmo àíZ)   
 Write the name of the metre in the following lines of  

verses. (Only two questions)    2´1=2 

(i) AñË`wÎmañ`m§ {X{e XodVmË_m  

(ii) _{håZm_oVpñ_Z² {dZ`{e{eamo _m¡½Ü`_g¥Umo 

(iii) {ZOö{X {dH$gÝV: gpÝV gÝV: {H$`ÝV: & 

19. (A) AYmo{b{IVàíZmZm_² CÎmam{U {bIV & (Ho$db§ àíZÌ`_²) 5 

 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE & (Ho$db VrZ àíZ) 
 Answer the following questions. (Only three questions)    3´1=3 

(i) Cn_m-Ab§H$mañ` bjU§ {bIV &  

(ii) AZwàmgmb§H$mañ` EH$_² CXmhaU§ {bIV & 

(iii) íbofmb‘>mañ` bjU§ {bIV & 

(iv) ‘_____ A ôXmo ` Cn_mZmon_o``mo:’ B{V H$ñ`mb‘>mañ` bjU_² ? 
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(Am) AYmo{b{IVmgw íbmoH$n{L²>ŠVfw à`wº$mb‘>mañ` Zm_ {bIV & (Ho$db§ àíZÛ`_²) 

 {ZåZ{b{IV íbmoH$n§{º$`m| _| à`wº$ Ab§H$ma H$m Zm_ {b{IE & (Ho$db Xmo àíZ)  

 Write the figure of speech in the following lines of  

verses. (Only two questions)    2´1=2 

(i) `VñËd`m kmZ_eof_má§ bmoHo$Z M¡VÝ`{_dmoîUaí_o: & 

(ii) nwZa{n {eew ŷ©Vmo dËg: g _o aKwZÝXZmo & 

(iii) a_Vo Z _ambñ` _mZg§ _mZg§ {dZm & 

https://www.collegebatch.com/exams?utm_source=pdf
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